Echec & Mat junior 147 — Solutions

Parcours du Pion

(1) 1..Be2#
(2) 1...0f44#
(3) 1...exf11u#
(4) 1...g4#
(5) 1.&bo#
(6) 1.hxgo#

Parcours du Cavalier

(1) 1.8xh5+ Hxh5 2.Wixh5#

(2) 1.Hxh6+ xh6 2.2h3#

(3) 1.Exa6+ bxab 2.%xa6#

(4) 1.8xg6+ soxg6 2.Wh5#

(5) 1.&xf2+ Wixf2 [1...2h5 2.g4+ Wixgd 3.hxga#] 2.Wg4a#
(6) 1..Wed+ 2.f6 WebH

Parcours du Fou

(1) 1.¥xe5 £e7 [1...Wxe5 2.5f8#] 2.2e1

(2) 1...Bxf5 et si 2.8xf5 Be1#

(3) 1.¥xd6 et si 1...¥xd6 2.2e8+

(4) 1...¥xd6 2.2xd6 Ba1+ 3.We1 [3.Wf1 2e3+ 4.cbh1 Exf1#] 3...Exe1+
4.52f2 Bc1 5.8xc1 £xc1 6.8xf6 b3

(5) 1.8xc7 et si 1...¥ixc7 2.We8#

(6) 1...2f1+ 2.8xf1 Wxd2



Parcours de la Tour

(1) 1.0f6+ &xf6 2.2xb7

(2) 1.2e6

(3) 1.2e8+ 5H)f8 [1...Mixe8 2.Wixg7#] 2.Exf8+ ©h7 3.%h5 Eg6 4.2e1
(4) 1...Bxd1 2.Wxd1 ¥xf2

(5) 1.He8+ Exe8 2.8xd7

(6) 1.2e6 fxeb 2.Wxe7#

Parcours de la Dame

(1) 1.&h7+ Bxh7 2.8d3+ Bed [2.. g8 42.1g64] 3.fxes

(2) 1...2d1+ 2.2h2 [2.8xd1 ¥xc4] 2...Exc1 3.¥xc1 ¥xb5

(3) 1...8xc7 2.¥ixc7 &f4

(4) 1...20xf2 2.8xf2 &xf2+ 3.2xf2 We3+ 4.1 Wxb3

(5) 1..F16)+ 2.0f4 Bha+ 3.55g5 Le3+ 4.doxhd g5+ 5.5h5 Hig3+ 6.0h6 gd#
(6) 1...Exg3+ 2.2 [2.hxg3 Wixg3+] 2...Bg2+ 3.2e1 [3.9xg2 Wxg2+]
3...293+ 4.hxg3 ¥xg3+ 5.22d1 ¥xh4



